258+

RS [9823H [12:30 ]
[ =]
ZE & Bk
R E iRk (CR) 7.04 WJIl £ BE 2010/09/04
£ELER (GR) 6.59 AKX Fih 2R 2011
R
NEfL | B Fon - K 4 B4 -1- | -2- | -3- B e

11 19 4572 EHth E&% (2) 5.72 5.71 5.97 5.97
A0 Yavy t5M -1.7 -1.2 +0.6 +0.6

20 17 4334/tkE £ (2) 5.80 x 5.74  5.80
35t v = -0.1 +0.4  -0.1

31 18] 41921L5# EREF (2) X 5.56 5.42 5.56
95 vay =] -0.5 +1.2 0.5

47 16] 4162 IR 5E(2) X 5.42 5.47 5.47
M5 t7 EAE -0.3 -0.5 -0.5

5/ 15| 5327 =% E{R (2) 5.44 538 532 544
% T BRI -0.3 0.0 +0.7 -0.3

6| 14 5381 #HiE %= Q) 5.20 «x 5.26 5.26
YUk by HNET -0.6 +0.3  +0.3

713 4871 % 2% (2 5.22 5.24 x 5.24
93/ Itk i -1.3 1.1 -1.1

8 10 54858 MM (2) 492 X 5.21  5.21
134 4" 42F EHEH -1.1 -0.5 -0.5

9] 9 8771 FER #©2) 453 4.85 4.87 4.87
N AvE RINEER -2.7 -0.3 +0.3 +0.3

10] 117 6046 &L #(2) 466 4.57 4.80 4.80
e )y LS -1.4 1.4 1.2 -1.2

11 8 4903 & #KER(2) 476 4.75 4.38 4.76
ThY" ¥ 39509 ik -2.6 -1.1 +0.6 -2.6

12] 12 5816 &H &KX (2) X 476  x 4.76
M B8 B/IHE -1.6 -1.6

13 5 4021 &= K& (2) 455 4.65 4.15 4.65
NV TV NG -1.2 1.2 1.3 -1.2

14] 6/ 6079 1&m # (2) X 453 X 4.53
7hth 49 +t-% -1.1 -1.1

15] 4] 4134 &R #h55(2) X 429 «x 4.29
AN 4h% L -1.4 -1.4

16] 7/ 5070 Hikx k& (2) 421 4.24 4.2 4.24
41 b7 HE -1.9 -1.3 -0.4 -1.3

17020 4990 i ZEH(2) 3.74 3.69 «x 3.74
v 3Fb BIRE -0.8 -1.5 -0.8

18] 3] 8710 ##F #HE (2) 3.28 3.70 3.62 3.70
WISV ik -1.9 -1.6 +0.8 -1.6

1/ 5355|%&H 4E7 (2) DNS

VSl BRLs AL




